
4247 4247.5 4248 4248.5 4249
cyclenum

0

0.5

1

1.5

2

al
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a1
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4e
X

1X
alpha13_4eX1X:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

1−

0.5−

0

0.5

1

de
lta
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2X
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Y

delta46_12X4eY:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

5486

5486.5

5487

5487.5

5488

5488.5

5489

5489.5

5490

ru
n

run:cyclenum {run == 5488}
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cyclenum

0
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segment:cyclenum {run == 5488}



4247 4247.5 4248 4248.5 4249
cyclenum

63−

62.5−

62−

61.5−

61−

us
l_

1X
usl_1X:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

5.5

6

6.5

7

7.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

5.5

6

6.5

7

7.5

us
l_

4e
X

usl_4eX:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

10

10.5

11

11.5

12

us
l_

4e
Y

usl_4eY:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

40−

39.5−

39−

38.5−

38−

us
l_

12
X

usl_12X:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

5486

5486.5

5487

5487.5

5488

5488.5

5489

5489.5

5490

ru
n

run:cyclenum {run == 5488}



4247 4247.5 4248 4248.5 4249
cyclenum

116−

115.5−

115−

114.5−

114−us
r_

1X

usr_1X:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

8.5

9

9.5

10

10.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

175

175.5

176

176.5

177

us
r_

4e
X

usr_4eX:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

2.5

3

3.5

4

4.5
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r_

4e
Y

usr_4eY:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

41.5−

41−

40.5−

40−

39.5−

us
r_

12
X

usr_12X:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

5486

5486.5

5487

5487.5

5488

5488.5

5489

5489.5

5490

ru
n

run:cyclenum {run == 5488}



4247 4247.5 4248 4248.5 4249
cyclenum

16417

16417.5

16418

16418.5

16419

us
l_

co
il1

usl_coil1:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

3121.5

3122

3122.5

3123

3123.5

us
l_

co
il3

usl_coil3:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

5196.5

5197

5197.5

5198

5198.5

us
l_

co
il4

usl_coil4:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

2028−

2027.5−

2027−

2026.5−

2026−

us
l_

co
il6

usl_coil6:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

14143

14143.2

14143.4

14143.6

14143.8

14144

14144.2

14144.4

14144.6

14144.8

14145

14145.2
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l_

co
il7

usl_coil7:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

5486

5486.5

5487

5487.5

5488

5488.5

5489

5489.5

5490
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n

run:cyclenum {run == 5488}



4247 4247.5 4248 4248.5 4249
cyclenum

21067−

21066.5−

21066−

21065.5−

21065−

us
r_

co
il1

usr_coil1:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

3715.8−

3715.6−

3715.4−

3715.2−

3715−

3714.8−

3714.6−

3714.4−

3714.2−

3714−

3713.8−

3713.6−

us
r_

co
il3

usr_coil3:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

5421

5421.5

5422

5422.5

5423

us
r_

co
il4

usr_coil4:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

1986.8−

1986.6−

1986.4−

1986.2−

1986−

1985.8−

1985.6−

1985.4−

1985.2−

1985−

1984.8−

1984.6−

us
r_

co
il6

usr_coil6:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

28718

28718.5

28719

28719.5

28720

us
r_

co
il7

usr_coil7:cyclenum {run == 5488}
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cyclenum

5486

5486.5

5487
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5488

5488.5

5489

5489.5

5490
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n

run:cyclenum {run == 5488}



4247 4247.5 4248 4248.5 4249
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143.5−
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142.5−

142−

141.5−

1X
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1X_coil1:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

2−

1.5−

1−

0.5−

0

1X
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1X_coil3:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

100

100.5

101

101.5

102

1X
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l7

1X_coil7:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

268.8−

268.6−

268.4−

268.2−

268−

267.8−

267.6−

267.4−

267.2−

267−

266.8−

266.6−

4e
X

_c
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l1

4eX_coil1:cyclenum {run == 5488}
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cyclenum

42−

41.5−

41−

40.5−

40−

4e
X
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4eX_coil3:cyclenum {run == 5488}
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cyclenum

112
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114
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X
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4eX_coil7:cyclenum {run == 5488}
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cyclenum

317

317.5

318

318.5

319

4a
Y
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l4

4aY_coil4:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

92−

91.5−

91−

90.5−

90−4a
Y

_c
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4aY_coil6:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

18.5−

18−

17.5−

17−

16.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

292.5

293

293.5

294

294.5

4e
Y

_c
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l4

4eY_coil4:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

111−

110.5−
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109.5−

109−

4e
Y
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4eY_coil6:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

15.5−

15−

14.5−

14−

13.5−
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Y
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4eY_coil7:cyclenum {run == 5488}
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cyclenum

237−

236.5−
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X
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12X_coil1:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

83−

82.5−

82−

81.5−

81−

12
X

_c
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12X_coil3:cyclenum {run == 5488}

4247 4247.5 4248 4248.5 4249
cyclenum

4−

3.5−

3−

2.5−

2−12
X

_c
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12X_coil4:cyclenum {run == 5488}
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cyclenum

4

4.2

4.4

4.6

4.8

5

5.2

5.4
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5.8

6

6.2
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X
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12X_coil6:cyclenum {run == 5488}
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cyclenum

509.8−
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508.8−
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X
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12X_coil7:cyclenum {run == 5488}
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cyclenum
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n

run:cyclenum {run == 5488}
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